



B.B.A. DEGREE EXAMINATION – 
JUNE 2008.

First Year

Computer Application

BUSINESS MATHEMATICS AND STATISTICS

Time : 3 hours
Maximum  marks : 75

Answer for 5 marks questions should 
not exceed 2 pages.

Answer for 15 marks questions should 
not exceed 5 pages.

PART A — (3 × 5 = 15 marks)

Answer any THREE questions.

1. What are the limitations of Statistics?

2. What are the operational rules of matrices?

3. Write short notes on :

(a)
Compound Interest

(b)
Present values.

4. Define Geometric mean and Harmonic mean and mention their uses.

5. Define positive correlation and negative correlation.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

6. Construct a histogram and frequency curve for the following frequency distribution :

	Weights (in kg) :
	41–45
	46–50
	51–55
	56–60

	Number of men :
	4
	5
	9
	6

	Weights (in kg) :
	61–65
	66–70
	71–75
	76–80

	Number of men :
	11
	5
	7
	3


7. For the matrices
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8. Find the compound interest and amount for 
Rs. 5,000 for 3 years at 8% per annum when :

(a)
the interest is payable annually

(b)
the interest is payable half yearly

(c)
the interest is payable quarterly.

9. Differentiate 
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10. Find the mean, median and mode for the following data and verify the empirical relation :

	Class
	Frequency

	1–10
	3

	11–20
	7

	21–30
	13

	31–40
	17

	41–50
	12

	51–60
	10

	61–70
	8

	71–80
	8

	81–90
	6

	91–100
	6


11. An analysis of the monthly wages gives the following results :

	
	Firm A
	Firm B

	Number of workers
	500
	600

	Average monthly wages
	Rs. 186
	Rs. 175

	Variance of the distribution wages
	81
	100


(a)
Which firm has a larger wage bill?

(b)
In which (A or B) is there greater variability in individual wages?

12. Ten competitors in a beauty contest are ranked by three judges in the following order :

	First judge :
	1
	4
	6
	3
	2
	9
	7
	8
	10
	5

	Second judge :
	2
	6
	5
	4
	7
	10
	9
	3
	8
	1

	Third judge :
	3
	7
	4
	5
	10
	8
	9
	2
	6
	1


Use the method of rank correlation co-efficient to determine which pair of judges have the nearest approach to common taste in beauty?
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